Total No. of 'pﬁ‘nted pages = 8

1.

(©

47.(5) WCMN 5.4

2012 ‘
WORKING CAPITAL MANAGEMENT
‘ Paper : 5.4
Full Marks — 80
' Tihie - Thfee hours

The ﬁgures in the margin indicate full marks
for the questlons

Fill in thé blanks : 4x1=4
(a) Acc"ording. to aggressive approach, entire

estimated ' requirements of working capital
should be financed from sources.

(b) Absolute ‘Liquid Ratio = ———,

represent unsecured promissory notes :
1ssued by the firms to raise short term funds.

(d) refers to the credlt extended/gy the
. suppliers of guods 1in. the normal course of
busmes&» '
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State whether the following are true or false (with
reasons) : - A 2x2=4

(a) Accrued expenses can be used as a source
of finance. ' '

(b) Debt-equity ratio is a working;capital ratio.

. - Assuming the current ratio is 2, state in each of

the cases, whether the ratio will improve or
decline or will have no change :*  2x1=2

(a) Purchase of fixed assets

_(b) Cash collected from customers.

Answer the following : 5 : 5%2=10

~ (a) What do you mean by current assets ? Give
examples.

(b) What are inter‘-c_orporate deposits 2
(c) What is cash-credit ?
(d) What is stock-velocit_y i

(e) Explain the term ““marketable  securities’.
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mewer the following (any four): 4x5=20

it

“Good cash management results in
sccelerated cash inflows.” Explain how. 3

') Explain the various approaches to working

capital financing mix. 5

“Maintaining receivables involve costs.”
What are the costs involved ? Discuss. 3

) “Operating cycle approach is one of the best

method for estimation of working capital
requirements.” Explain the method. 5

The following information has been provided
by a company for the year ended 30. 6. 2012 :

Limbilities | Amount Assets Amount
(in® | ' Lt (m )

Equaty share . | Fixed Assets

uyputal 2,00,000 | Less : Depreciation |3,00,000

W, Debenture |1,00,000 | nventories 1,20,000

Newerves and ~

Sirplas 70,000 | Sundry Debtors 50,000

(omg-term loans | 30,000 |Cash at bank 110,000

Yimmdry Creditors| 80,000

Total |4,80,000 Total |4,80.000
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Answer the following (any five) :

(a)

(b)

(c)

Sales for the year ended 30.06.2012 amounted
to ¥10,00,000 and it is estimated that the
same will amount to T 12, OO 000 for the year
2012-13.

You are requxred to estimate the working-
capital requirements for the year 2012--13

.assuming a linear relatlonslnp between sales

and working capital. 5

If current liabilities ‘are ¥ 80,000, current
ratio is 2:1, liquid ratio is 1.5:1 and

prepaid expenses are % 2,000, then calculate
the value. of current assets and mventory |

 5x8=40
Explain - the proc_edufe of factoring( Also,

éxplain the various types of factoring.
' i 3+5=8

Is the pattern of _ﬁnancing current assets

based on’ their behaviour ? If yes, how ?
Also, explain how one can evaluate the credit
- worthmess of a customer : 3+5 =8

Explain Mlller-()rr s Cash Management
model. Also, write a- short note on the credit

policy of a firm. b 5+3=8
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(d) _What are the advahtages of adequate amount

(©
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of working capital ? Explain the permanent
sources of working capital finance. ?{+’5=8

What are the general principles of a sound-

. management policy in respect of working

capital ? * Also explain any four factors

" affecting the composition of working capital.

 4+4=8

The following 1nformat10n is given about
Bright Star Ltd. for the year endmg 31st

'March 2012 : 0 ¥ ot

(i) Stock Turnover Ratio = 6 times

(ii_‘)' Gross' Profit 'Ratio- =200 v'c_m sales |

(iii) Sales for 2011-12 = 3,00,000

(iv) Closing stock is ¥ 10,000 more than
opening stock

(v) Cpe’nin'g :creditors 4 20 000 -

(vi) Closmg cred1tors ?30 000

. ; (vn) Trade debtors at’ the end £ 4 60 OOO
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Calculate :
 (a) -Cic.di‘tors turﬁo\}er ratio
(b) Afs{c_arage‘ payment period
(c) Averagé collection period
(a) ‘Working ,cyapi‘tal ‘turnover rétio.-

(&) A proforma cost-sheet of a company

5 prov1des the followmg partlculars 8
Elements of cost ' Amoth p.u.
: e (in %)
Raw, material . - S 80
Direé"c laf)our S 0
Overheads : : ' : v6‘0 '

Totaﬂ cost 170
Profit 30
Selling pnce 200

The followmg further partlculars are'available :

Raw materials are in stock on an average for
one month. Work in process is on an average
for half a month. Flmshed goods are in stock
on an average for one month.
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Credit allowed by suppliers is one month.
Credit allowed to-customers is two months.
Lag in payment of wages is 1% weeks. Lag
in payment of overhead expenses is one
month. One fourth of the output is sold
against cash. Expected cash and bank
balance is ¥25,000.

Prepare a statement showing the amount of
working capital needed to finance a level of
activity of 1,04,000 units of production.
[N.B : Time period of 4 weeks is equivalent
to a month].

n) A manufacturing company wishes to arrange
overdraft facilities with bankers during the
period April to June, 2012, when it will be
manufacturing mostly for stock. Prepare a
cash-budget for the above period from the
following data, indicating the extent of the
bank facilities, the company will require at

- the end of each month :

(i) Month Sales  Purchases Wages
(in¥)  (in?) (in%)

February  1,80,000  1,24,800 12,000
‘March 1,92,000 1,44,000 14,000

April 11,08,000  2,43,000 11,000
May 1,74,000  2,46,000 10,000
June 1,26,000  2,68,000 15,000

147 (5)WCMN 5.4 (7) [Tumn over




(i1) 50% of the credit sales are reahsed in
‘the month followmg the sales and the
remaining sales in the second month
following:.

(iii) Creditors are pa1d in the month followmg
the purchase.

(iv) Cash at bank on lst Apnl 2012 is
'¥25,000.
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